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Note :

i)  The question paper is divided injo two parts - - Part-A and Part-B

i1) Part-A and Part-B arc divided into three S‘.ubher:tiona - {1), (2) and
(3).

i) In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball-
point pen, fill completely in the circle in OMR Answer Sheet. Do not
erase, cut or use whitener on the OMR Answer Sheet after answering.

iv) 1 mark is allotted for each multiple choice question in Pll'tA

v) Part-B has descriptive questions.

vi) The allotted marks are given in each question.

vii) All the questions of Sub-Sections of Part-B are to be attempted all at a

time. Start each Sub-Section from a new page.

viii) All the questions are compulsory.

_qvE - H
PART - A
( TEgfredta w9 )
( Multiple Choice Type Questions )
JqUI - (1)
Sub-Section - (1)
AT 10 I G g H T I O, T T8 & TN HR F IRAfAE v
—" arn {1 76 IR @ yhfew % d= A gl A

(A) 10 & (B) 20 ud
.(C) 30 (D) 40 ®h 1
1. A convex lens of focal length 10 cm forms a real image of the same size

as the object. The distance between the object and its inage will be
(A) 10cm (B)  20cm
«(C) 30cm i) 40 cm ]
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2. T IWA TR I e wdy g @
XA 1 ¥ afes B) 18%y
() 1% wmR D) 13 A @y 1
2, ficati
The magnification produced by a convex mirror is always
(A} more than 1 (B) less than 1
C
(C)  equalto 1 (D)  more or less than 1 1
3. @mﬁumﬁaaﬁtmqﬂzoﬂiﬁlmﬁqﬁmﬁﬂﬁ
(A) +0-2D (B) -02D
C) +50D (D) -50D 1
3. The focal length of a converging lens is 20 cm. The power of this lens
will be
(A) +02D B) -02D
(C) +50D D) -50D !

4, 9 T vaq T e fedt Rrenin wie % R ) gag v findt € @ @ R
ﬁﬁh@ﬁwm—mﬁwﬁﬁﬁmuﬁﬁﬁmﬁa@aﬁélﬁmm%

fere forerer pem 2 @ 2

(a) dien B oW

(c) @t D) |
4. When a beam of white light falls on the surface of a triangular glass

prism it splits, after emerging out from the prism into various colours

with different deviations. The colour which has minimum deviation 1s

(A) Yellow (B) Green

(C) Violet (D) Red 1
5. fodh ol ¥ e qun A TR BAET % AR 1 SRy 4 3w 1w v F

N —h o PLoA LR e A A w sfad g

A) 48 (B) 80

C) 160 D) 329 1
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S. The resistance of a wire of any substance of length [ and area of cross.
section A is 4 Q. Another wire of the same substance has length 21 ang

area of cross-section ij‘-— Then its resistance will be

A) 40 B) 8Q
© 160 : (D) 32Q 1
6. Frferfea & i Rt ofwer % dam v @ =& weRla s 2 2
A r’r B) VI |
(C) IR? (D) _‘;; 1
6. Which of the following does not represent electrical power in a circuit ?
(A) I’R B) VI
(C) IR (D) v 1

7. ﬁi&ﬁumam%mwﬁrqﬁm%:ﬁ%ﬁﬁﬂwmaa
BT 2

AA)  r® FEEAEE B) r® ¥ ITEATIA
W(C) r % FSHUTIIRI D) 7 % YHET! 1
7. The magnetic field produced due to a current carrying conductor at a

point on a distance ris
(A) directly proportional to r (B) di'rectly proportional to r?
(C) inversely proportional to r (D) inversely proportional to r? 1
- (2)
Sub-Section - (2)

8.  EEEH AFA (HY) vl @

o(p) AN B) =

(C) FewH D) ¥ & B 7 I
8. Nature of hydrogen ion (H") is

(A) Acidic (B) Alkaline

(C) Neutral (D)  None of these 1
9.  uEd BT & T A H A % v A www

(A) 2 B) S

() 8 «(D) 10 1
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9. Number of molecules of water in onc molccule of washing soda ig

(A) 2 B) 5

(C) 8 (D) 10 ]
10.  FEfRea ¥ B9 g 2 o -

»(A) Cr B) Fe?

(C) He (D) Hg f
10.  Which is a non-metal in the following ?

(A) Cr (B) Fe?

(C) He (D) Hg 1

11 oTgett & foe # v i & »
o) ugd HeT wEEA N T
(B) HIgd W9 3T S #
(C) g3t & seiagi mr Y wafw B 2
(D) WTgHi ® SeThaT 1 V7 YT ST R
11.  Which is not true for metals ?

(A) Metals always form'covajent compounds
| (B) Metals form positive ions
(C) Metals have tendency to lose electrons

(D) Metals have the property of conductivity . 1
12. AR 3% Ui it 91 @ Affsean = W aar R

(A) W ‘@)

(C) ST I D) ¥ | F T 1
12.  Which is formed by reaction of Plaster of Paris with water ?

(A) Epsom (B) Gypsum

(C) Limestone (D)  None of these 1
13, woHTe % aifeaw @ IR FR w aw il R

() o,M B) H,Md

() C,H, M (D) C,H, M 1
13. Which is obtained by the reaction of ethanol with sodium ?

(A) O, gas (B) H,gas

(C) C,H,gas Dy C,H, gas |
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6
ITHTT - (3)
Bub-Section - (3)
14, wFE A fenr orgst € wen v 2
(A) 23 o(B) 2
€ 21 D) 20
14. The number of sex chromosomes in human is
(4) 23 - B) 2
€ 21 (D) 20 -
15. m%wﬂmﬁmmwﬁﬁrﬁHw% aiamzmaw
¥ fuc 9 o |
(A)  IeEeH B) T
J(C) W (D) W™ |y l
15. Intake of oxygen from outside of the body and break down of food
sources as per requirement of cell is called
(A) Excretion . (B)  Reproduction
(C) Respiration | (D)  Photosynthesis l
e, wferss #1767 A= I S HErar &
-~ WA) I afers ‘B) WeT nfvres
(C) v ufers® (D)  Irnferss 1
16.  The main thinking part of brain is called
(A) Forebrain. (B)  Midbrain
(C) Hind brain (D) Cerebellum !
17.  Frefeafen def & @ fraw 757 whieeht g d -
(A)  TEA B) wg}
€) == *D)  geftey i
17.  Which of the following plants has unisexyg) Nower »
(A)  Hibiscus (B) Mustarq
(C) Pea (D) Papayg |
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18.  UF I TR R 9oy Fraliw qqel £ feed qrn e o e am gdead 2 o

(A) 0% o3)  10% |

(C) 50% D) 100% |
18.  How much organic matter reaches from one trophic level to next trophic

level ?

(A) 0% (B) 10%

(C) 50% (D) 100% 1
19. Wi ¥ SHW dveN F I

(A) TN + Tefem + ‘(B) TEN + A + W@

(C) TET + TRINA + I (D) @1 + Hla SEATHGS + T |

19.  The product of photosynthesis in plants is
(A) Protein + Oxygen + Water (B) Glucose + Oxygen + Water
(C) Fat+ Nitrogen + Water (D) Fat + Carbén dioxide + Water

_ 1
20. frefefes # o\ & ey gmiv @i 2 2

(A) it B) FRreatfem
(C) TERA (D) WTERAHIA 1
20. Which among the following is not a plant hormone ?
(A) Auxin _ | - (B) Gibberellin
(C) Estrogen ' . (D) Cytokinin 1
aE-T
PART - B
( AUETE W )
( Descriptive Questions )
JYHTT - (1)

Sub-Section - (1)
' d Fni # qve-37a gdu & fAU $F-T1 FHR F 0 AN FW 0 W
M afigar e g ? 2
/(1}/ W@ 3t dur ) T & Haaw u @ 8 W K gh W wWh 2 A
4-5 wft a1 st wffea e ) wfafina & fafa @ gdo
% gf wa fifae | 2
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1.

(1)

(i1)

)

i)
(1)

(i1)
v

L

(i)

(i)

8

Which type of mirror is used as rear view mirror in cars ?
we prefer it ?
An

Why do

object of 3 cm height is placed at a distance of 8 cm fmrnz
concave mirror which produces a virtual image of 4:5 cm hejgh,
Find the position of the image and focal length of the mirror, 2
P oY 3w 7 @ 2 2 e s g wETE ) e S g 7w oy
qafta forar s & 2

' 2
D AR B W fen i 3 g @ 2 =men Hifg) 2
What is short sightedness ( myopia ) ? Explain with a ray-diagram,
This defect is corrected by which type of lens ? 2
Explain why the colour of clear sky appears blue. 2
U TR Tah 9 % qRaTd e W aet fA-fe aml @ ok s
?? W aa 6 fow W w0 @ g faflag) 2
fafre fedy =1 s w1 R 2 w6 25 0 F vREE 12 dce B T d20 @
o1 81 i e [ & e s St 6t oRm Hifdrg 2

What are the factors on which the force acting on a current
carrying conductor depends placed in a uniform magnetic field.
Write the rule to find the direction of this force. | 2
What is the unit of specific resistance ? A resistance of 25 Q is
connected to a 12 volt battery. Calculate the heat energy in joules
generated per minute. 2

4 A 23 m iy R d 10 @, 40 Q, 20 @ 30 @ ¥R 60 Q ¥ iy why Ran
™ A 18 M AT A AEE

200
10 Q [ W]
A —mw— B 300 C
WA~
AAAS b W W
a0Q 60
e —{)
18V
mﬁﬁq;
M) ity & Fa yfdy

mf, Wﬁwﬁagﬁiﬂgﬁmﬂ
BT T3l A st g% @ R
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() TH URTETE! JAHR €9 % Ho) 3o qahrg a1 Tt & & amw
(i) 1990 9%% w0 G 2 » 5w A 3w R

(i) T g ©h e g @ 3 A R 2 0 2+2+2

In the circuit given below five resistances of 10 €, 40 ©, 20 €, 30 Q and
60 Q are connected as shown to a battery of 18 volt.

10 Q 200
—vwWw—/ B| 300 | C

A D

“AAA/ AAAS

40 Q 60 O

— M (-
18V

Ly

Calculate :

(i) total resistance of the circuit

(i)  total current flowing in the circuit

(i) potential difference+between points A and B. 2+2+2
. OR _

(i) Draw the pattern of the magnetic lines of force produced due to a

current carrying circular loop. https://www.upboardonline.com

(ii) ~ What is an electromagnet ? State its two uses.

~ (iii) How does an clectromagnet differ from a permanent magnet ?

_ | 2+2+2
I - (2)
_ . Sub-Section - (2)

ey Toreg TEmai Aol % fel @ i @1 3gE i 2
/nsf Na WHIY] (TTHTY] ShHTeh 11) TUT T G0N (STHTY] ShHTh 17)%141:‘111%
Na*Cl™ 1 941 GHHET| 2
(a)  State any two properties of electrochemical series. 2

(b) Explain the formation of Na*Cl™ by combination of Na atom

( Atomic number 11 ) and Cl atom ( Atomic number 17 ). 2

Prerfeflra w afém feoht fafia

o ———
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6.  Write short notes on the following :
(a)  Neutralisation rcaction 2
(b)  Reduction rcaction, 2

7. wm%m*(mmmWWJ 61
(@ WfEam sawgs € 9@ A fr s o 2 2
(b) U A T A Y5 T A i g e R 2
() TETE B W H,S0, N ftewar ¥ @9 160°C  170°C T4 7%

form s @ 2
(d) RS I ) Bfeam ardeEtie @ B w0 A @ 2
€) T R W H,S0, H R § v s % Ee T R w2 2
O O a2
AT

v(ay” faemm % pH 7AW wfim ot faflgw) 2
by 3w W Ef feuft ferfae) )
ey~ Prffem e F LUPA.C. W fafae ;

&~ CHz;—C=C—CH,
OH

n
/(;4( CH,~CH-CH,

7. What happens when — ( Write only balanced chemical equation) 6x |
(a) Sodium oxide reacts with water ?

(b)  Dry chlorine gas reacts with dry slaked lime ?
ith excess of co .
(c) Ethanol reacts wi ncentrated H.2804 at 160°C 1o
170°C ?
(d)  Ethanoic acid reacts with sodium bicarbonate 2
(¢) Ethanol reacts with
H,80, ?
(N Ethane is allowed to burn in air ?

OR

ethanoic acid in Presence of concentrated

(a)
(b)

6000/64
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(¢)  Write lUPAC names of the following compounds : 1+1
(1) CHy=C=2C~CH,
(|)l|
(i) CH,—CH=CH,
JUHIT - (3)

Bub-Section - (3)

& Pafofea § wlw o o sgmoen Py .
JURNE o 1
(i) @A | |
(i) TR () 1
(v)  HHEA| 1
8. Write one example of each of the following :
(1) Fission 1
()  Fragmentation 1
(i) Regeneration 1
(iv) Budding. 1
9. frafafes w wikm feaftet fofe ; 2+ 2
(i) e
() I v
Q. Write short notes on the following : 2+2
(1) Ecosystem
(i  Ozone layer.
lo/ ma % e T a0 it i e Sl Iw diw w242
jo_ Draw a labelled diagram of female reproductive system of human and
describe it in brief. 2+2
11~ A % g &) G R ¥ gui AR IEE w1 w 3PE W A
| 3+3
Aqan
faeafaftan o dfim Rufirt fafly - 2+2+2
() It d e
() T i g wnif
(iii) Pt gy
: 6000/64 https://www.upboardonline.com ( Turn over
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11, Describe in brief the structure of kidney in human and also describe its

functions. 3+3

OR

Wriwe short notes on the following : 2+2+2

e .
(i)  Geotropism in plants

(i1) Growth hormones in human.

(111) Heterotrophic nutrition.
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